



MANUAL RALL KALAM AZAD UNIVERSITY OF TECHNOLOGY WEST BENGAL University of Technology, WEST BENGAL

Certified that

#### Aahelee Pal

bearing Regn. No.: 172341310001 of 2017-2018

having fulfilled ail ine requirements has been admitted to the Degree of

Bachelor of business Management Hospital Management

of this University and that the degree was conferred on him / her with all the rights and privileges thereto. In witness whereof the Signature of the Vice - Chancellor of Maulana Abul Kalam Hzad University of Technology. West Bengal is hereunto affixed.

College/Institution: NSHM COLLEGE OF MANAGEMENT & TECHNOLOGY, KOLKATA

**DGPA: 6.70** 

(Degree Grade Point Average)

Year of Passing: 2020

Dated: 20th July 2020



Saikert Maitra

Kolkata, The 20th July, 2020

**MAULANA ABUL KALAM AZAD** 

SL NO: 2020/234/033/S6/0159/R UNIVERSITY OF TECHNOLOGY, WEST BENGAL (Formerly known as West Bengal University of Technology)



GRADE CARD

or the	THIRD YEAR SECOND SEMESTER HM EXAMINATION OF 2019-20	Roll No	oll No. : 23403317060			
SUIC						
Registration	NO. OCA NISHM COLLEGE OF MANAGEMENT & TECHNOLOGY, F	KOLKATA				
ollege /lns	No. : 172341310001 GF 2011 E010 itution : 234-NSHM COLLEGE OF MANAGEMENT & TECHNOLOGY, F		Point	Credit	Credi	
Subject Code	Subject offered	Grade	9	4	36	
BHM601 BHM602 BHM603	PUBLIC RELATIONS  MEDICAL ETHICS  ORGANIZATIONAL BEHAVIOR	E 0	9 10 7	4 4 4	36 40 28	
BHM604A BHM681	OCCUPATIONAL HEALTH  MAJOR PROJECT ON SPECIALISED AREA	B A	8	8	64 32	
BHM682	DEFENSE OF PROJECT	A	8	3		
			Total	28.0	236.0	
GPA · ·	DD (SW) OF PERSON OF SW			DGPA		
	DD (5th) SEMESTER 6.38 VEN (6th) SEMESTER 8.43					
GPA: 7	44			6.70		
	esult : P		_			
emester R	2000000	STATUS		QUALIFIE		

Controller of Examinations

# MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL (Formerly known as West Bengal University of Technology)



For the THIRD YEAR H.M FIRST SEMESTER EXAMINATION OF 2019-2020

Name

AAHELEE PAL

Roll No.23403317060

Registration No. 172341310001 OF 2017-2018

College /Institution: NSHM COLLEGE OF MANAGEMENT & TECHNOLOGY, KOLKATA (234)

Subject	Subject offered		Letter Grade	Point	Credit	Credit Points
BHM501	QUALITY IN HEALTH CARE		В	7	4.0	28.0
внм502	SUPPORT & UTILITY SERVICES II		В	7	4.0	28.0
BHM503	LAW		С	6	4.0	24.0
BHM504	FINANCIAL MANAGEMENT		D	5	4.0	20.0
внм505	HUMAN RESOURCE MANAGEMENT	4	D	5	4.0	20.0
BHM581	SUMMER TRAINING EVALUATION		В	7	2.0	14.0
BHM582	PROJECT ON MARKETING OF HEALTH CARE SERVICES		A	8	4.0	32.0
District	1 m 1 m 1 m 1 m 1 m 1 m 1 m 1 m 1 m 1 m					
	V2.					
	15					
	e <sup>2</sup>					

SGPA:

ODD (5th) SEMESTER 6.38

Semester Result :

Kolkata, The 17TH MARCH 2020 Controller of Examinations

166.0

26.0

Total

SLNO: M1923430264

**MAULANA ABUL KALAM AZAD** 

UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



SECOND YEAR H.M FIRST SEMESTER EXAMINATION OF 2018-2019

For the

AAHELEE PAL

Roll No. 23403317060

of organism No. 172341310001 OF 2017-2018

Subject Code	Subjects Offered the form And I return Subjects Offered the form And the return of	Letter Grade	Points	Credit	Credit Points		
Code	A State and Mandaus Mid Kalam And University of Ir Chrobins, West florest Standard and	Newton Collection	tender of fection	an and grant an	20.0		
BHM301	HOSPITAL OPERATIONS MANAGEMENT-II	D	5	4.0			
вни302	BIO-STATISTICS-II	В	7	4.0	28.0		
внм303	HEALTH ECONOMICS	C	6	4.0	24.0		
внм304	MEDICAL RECORD SCIENCE I	С	6	4.0	24.0		
	INVENTORY CONTROL & PURCHASE MANAGEMENT	С	6	4.0	24.0		
внм305 внм385	MINOR PROJECT	A	8	4.0	32.0		
BHM387	SEMINAR OF ASSIGNATION OPIC	В	7	2.0	14.0		
	The second secon	Maria Maria	Valletie P	5 7	100		
	A second control of the breaking the control of the second the second control of the sec	The second second	A THE	Section 1			
	The state of the s	Commence of the first	AL CARL	100	-		
	The state of the s	A Linguist of South	tog Martin	No. of	1,10		
	The second secon	Antonio and The	The second second		- 10		
	The state of the s	Manager Grand	mark the		1		
	the state of the s	National Park	Stage Street	ton a tone to			
	[4] A. S. Sandara, and A. S. Sandara, A. S. Sandara, S. Sandara, S. Sandara, A. S. Sandara, A. S. Sandara, S. Sandara, A. S. Sandara, S	Address to the	water to be	the state of the state of	2.41		
The same	of any or the property of the		0.0.0.0	P - est 1	16.6		
	A CONTROL OF THE PARTY OF THE P	Approved to the	Total	26.0	166.0		
PA					DGPA		
PA	ODD (3rd) SEMESTER 6.38						
PA							
alt			-				
Hilt							

NSHM COLLEGE OF MANA

Controller of Examinations (OSD)

Kolkata, The

27TH FEBRUARY 2019

182340122666 **MAULANA ABUL KALAM AZAD** UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



FIRST YEAR H.M FIRST SEMESTER EXAMINATION OF 2017 - 2018

Aahelee Pal

Roll No.

23403317060

Resistration No.

172341310001 of 2017-2018

Subject Code	Subjects Offered	Letter Grade	Points	Credit	Credit Points
3-101	PRINCIPLES OF MANAGEMENT	С	6	4.0	24.0
S-M102	ENGLISH LANGUAGE & COMMUNICATION	C	6	4.0	24.0
BH#103	MEDICAL TERMINOLOGY-I	D	5	4.0	20.0
BHM104	ACCOUNTS	D	5	4.0	20.0
34#105	HOSPITAL & HEALTH SYSTEM-1(HISTORY & EVOLUTION)	D	5	4.0	20.0
BHM191	LANGUAGE LABORATORY	E	9	2.0	18.0
BH#192	COMPUTING LABORATO	E	9	4.0	36.0
	agai Dalaman mana mana da ana kamba		the state of the		1
					171
		A Control of		A - Fire To	
		A Comment	Total	26.0	162.0
PA OD	D (1ST) SEMESTER : 6.23	The state of the s	Total	26.0 DGP/	
_	DD (1ST) SEMESTER: 6.23	A Control of the cont	Total		
PA OD	DD (1ST) SEMESTER: 6.23	A The State of the	Total		
PA	DD (1ST) SEMESTER: 6.23	The first of the second	Total		

Controller of Examinations (OSD)

Kolkata, The

3RD FEBRUARY, 2018

1923440852

### **MAULANA ABUL KALAM AZAD**

## UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly known as West Bengal University of Technology)



SECOND YEAR H.M SECOND SEMESTER EXAMINATION OF 2018-2019

Forthe

AAHELEE PAL

Roll No. 23403317060

Registration No. 172341310001 OF 2017-2018

Subject Cede	Subjects Offered	Letter Grade	Points	Credit	Credit Points
BHM401	EPIDEMIOLOGY & ANALYSIS OF HEALTH INFORMATION DATA	С	6	4.0	24.0
BHM02	SUPPORT & UTILITY SERVICES I	E	9	4.0	36.0
BHM403	ENVIRONMENT & ECOLOGY	C	6	3.0	18.0
BHM404	MEDICAL RECORD SCIENCE II	C	6	4.0	24.0
BHM405	MANAGEMENT INFORMATION SYSTEM	, D	5	3.0	15.0
	4.4.				
	- T				
			Total	18.0	117:0
PA	ODD (3rd) SEMESTER 6.38			DGPA	
PA	EVEN (4th) SEMESTER 6.50				
PA	6.43				
sult	P				
llege / Inst		CV KOLKAT	A (234)		

Institution

NSHM COLLEGE OF MANAGEMENT & TECHNOLOGY

Kolkata, The

31ST JULY 2019

Controller of Examinations

1823420289

## **MAULANA ABUL KALAM AZAD**

# UNIVERSITY OF TECHNOLOGY, WEST BENGAL (Formerly known as West Bengal University of Technology)



FIRST YEAR H.M SECOND SEMESTER EXAMINATION OF 2017-2018

For the

AAHELEE PAL

Registration No. 172341310001 OF 2017-2018

Roll No. 23403317060

Subject	Subjects Offered	Letter Grade	Points	Credit	Points
8H0201	HOSPITAL OPERATION MANAGEMENT-I	С	6	4.0	24.0
ВНМ202	BIO-STATISTIC-I	С	6	4.0	24.0
вни203	MEDICAL TERMINOLOGY-II	С	6	4.0	24.0
BHM204	MARKETING MANAGEMENT	D	5	4.0	20.0
BHM205	HOSPITAL & HEALTH SYSTEM II (HISTORY & EVOLUTION)	E	6	4.0	24.0
BHM286	SEMINAR I SERVICE SERV	В	7	4.0	28.0
BHM287	PUBLIC SPEAKING ON ASSIGNED TOPIC	E	9	2.0	18.0
	And the state of t	The send of	Total	26.0	162.0
GPA	ODD (1st) SEMESTER 6.23			DGPA	
GPA	EVEN (2nd) SEMESTER 5.23				
GPA	6.23				
ésult	P				
ollege / Inst		KOLKATA	(234)		

Controller of Examinations (OSD)

Kolkata, The

1ST AUGUST 2018